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Math 4

1-4 Solving Equations by Chunking/Substitution

Review

Use algebraic reasoning to solve the following equations for the given variable. Show all work.

Name

Date

Use your calculator ONLY for equations involving e and natural log.
For the trigonometric equations, find solutions 0 <6 <27, s J"

1. 2¢* =12
X:é
\(\ é:BX
3. x*+8x+12=0
(% 46 =0
& or X= )z

5. 4x* +7x* =2x* +6x
(-(X’5+5.X}~ éx =0
X (A #5y —£) =0

X -2)(x +2) =0

LOXLL, '2(

i sin(6) =7

U nfebref

S only é/; foor -1 4o |

2.

In(x+4)=-2

27 = w +4

0.135 =x +4
Y -3, 865 (

6x*+x-5=0

TSy + 1) <0
{xf , ="

6.

In(x*)=1n(x)+In(3)
[0 ¥ = | 3x
- B
Y =2x= O
X (x-3)=0

[x=o o X =3

8.

tan 6 = -1 [
e




Solving by Substitution/Chunking Notes

H-e-6=0 () =& %
- o0-( ~O
(0 -2 +» =0
J=3 O =72
QK =23 6>< :’2
lm 3 =X ("\7‘-—@

(x+3)"—4(x+3)’ -21=0
S E N
U2 -YHy -al =0

(0 -T)(s +3)=0

U-T=0 wv+3=0
o= 0="3
3
(X'L—%b =7 (x—s—z‘;g =3

X +3 '—%Fg

&2 =1

sin?x—4sinx-5=0

U= S~ X
U? -4o -5 =0
<O—S>(u D=0

U= S U—:'(
U= S Sivox =7
Not
Pos ke




Practice

Use algebraic reasoning to solve the following equations for the given variable. Show all work.
Use your calculator ONLY for equations involving e and natural log.
For the trigonometric equations, find solutions 0<0 <27

1. e* =26 +25 =0

£
U=¢
02— 260 +25 =0
(o S (0 =0

0=xS L=l
@%:)5 é{';\
\ﬂgg% (m’:f
3. y“’ Sy +4y =0

/24y8 Syt =0

:\/
Y><U2;§o+43:0

v (L=Do-0 =0
=0 U4 u- {
_k{ y (

5. 2cos’x+cosx—1=0

U = (% ¥
DZUQ‘J—U—l:O

(306 - o=
Je ﬁ o=\

(%5 X =2 o X<

e PR

.
xli

2. 2(1nx)2+lnx—1=0
U= ln x

o
IM-
<
o

Xz O 20 |
1. X H0x’ =2x" +8

XQ*WX -‘-g

6. 3(x+2) -7(x+2)+4=0
U=x+a

) -‘70-'.?(‘{“—0
Bo HH(o-1) =0

45
o= 3 \

X-l—)-:(



7. 3x°-20x° =32 8. (log, x)2 ~10log, x=-16

$y® = 0y* 3320 = \0})x
0= ><;
BL))« A0, —3 A =0 Ul —{0V Hb = O
(30*"0(0—%3‘0 <U—8><U DJ
= & N
u-—'% o =& e
>_ Y \0q. %€ [03,:&%:”)
X°="3 X :} (.
Y = 8. 27:=¥%
%ﬁ’l_lOl ;2 -X
" E@ [x=+]
9. 2t +3¢* =2 10. 4sin® x = 4sinx -1
J=£2 J=Cn~ X
20%420-2 =0 Ho?-Ho+l =
(20 =)o+ =C Qo-1)Ro -} =0
L e =J .+
U= X O - U= d L1
BT oo S s S O
Nt g ™ ST N
W L
. =7-8n 12. 112-(x1_1)-2=o
(8n 7) ~(-71+En) e
&n T - (cn ) ! |
U= &n-"1 S
L)>='O <U"‘Q><L) +D =0
B J= U:‘(
O r0 =0 l ‘i Ao
glo*D ’-O o=l x4
U= o = =%l =
¢n-T 0 S AR



